
Good morning,  

Here are your answers for Wednesday 8th July.  

1) 33+8=41 

2) ½ of 20=10 

3) 70-30=40 

4) 55-10=45 

 

1. 10 

2. 2 

3. 5 

4. 10÷2=5 

5. 20÷10=2 

 

 

 

 

 

 

 

 

 

 

 

1) They would need the bag with 15 sweets in as they can 

divide 15 by 5 equally. The children would get 3 sweets 

each.  

2) The teacher would need the bag with 20 balls in as you 

can divide 20 by 10 equally. The children would get 2 

balls each.  

 

 

 



 

Noi moved without a sound because she didn’t want anybody to see her.  

Noi saw a great big rock full of holes.  

It was a castle, a tall ship, a smuggler’s den and a barnacle at the back of an ancient whale.  

The word swirled is used to suggest the sky was moving and creating a storm.  

A bird landed in Noi’s cave.  

 

 

 

 

 

 

 

 



 

 



 

 

 

 

 

 

 

 

 

 

 

 

 



 



 



 



 

 

 

 

 


